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Q1 (5 pts): run Mallet

Q2 (25 pts): MaxEnt decoder

e Q3 (15 pts): calculate empirical expectation
Q4 (30 pts): calculate model expectations

e standard portion: 25 points

Total: 100 pts



Q1: run Mallet MaxEnt learner

e T[he format of the model file:
FEATURES FOR CLASS cf

<default> 0.3243

t1 0.245

t2 0.491

FEATURES FOR CLASS c2
<default> 0.3243

t1 -30.412

2 1.349
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Q2: write a MaxEnt decoder
The formula for P(y | x):

e’\O(y”Zf:l A fr(Z,y)
pylr) = ——7——

Mo(y) is the weight of the default feature for y.

The k in fi corresponds to a (class, feature) pair (c;, ;)

fr(x,y) = 1iff t; is present in x and y = ¢;.



Q2: calculate P(ylx)

e The format of the model file: Suppose % is “c| t3”

FEATURES FOR CLASS cf1 I
>\0(61)+Zk_1 A fre(x,c1)

<default> 0.324 (C ‘:L‘) e
t1 0.245 pP\€1 R Z
t2 0.491 0.324+40.245—0.22
t3 -0.22 p(cl |:13) — 7
FEATURES FOR CLASS c2 ’\O(CQHZf—l A 1 (2102)
<default> 0.456 p(cZ |Qj) — € Z_
t1 -30.4
,0.456—30.442.42
t2 1.349 p(CQ |aj) — >

t3 2.42
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P(cl|x) =%
P(2|z)=2
P(c3|x)=%

/= A+B+C
P(cl | x) = A+é+0
P(c2 | x) = A+g—|—6’
P(c3 | xz) = A+g+0

NNNNNNNNNNNNNNNNNNNNNN



Q3-Q4: calculate expectation

Esf, = p(x nfi(x,y)

(x,y)EX

E [, = p(x nfi(x,y)

(x,y)EX



